normalized X2

< X2/ ndf >

< X2/ ndf >

Ratio

[ normalized x? probability |

Entries
Mean 0.9311
Std Dev 0.2542

Entries 9969
Mean 0.92
Std Dev 0.2531
Entries 9973

0.9235
0.254

0.018
0.016
0.014]
0.012
0.0%

0.02F

>

6 8 10 12 14 16 18 20
2

Coriginal_step2__pi1t020_etaZpOto2p5
DOM_mkFit_step2__ptlto20_eta2pOto2p5
DQM_angle_step2__pt1to20_eta2p0to2p5
DQM_fast_step2__pt1to20_eta2pOto2p5
DQM_pixelCPETemplate_step2__pt1to20_eta2p0to2p5

g
Q©

=
2}

=
i

A
1.8F 2 18
1.6 3< 1.6
\2
1.4 1.4
1.2 1.2
1 1
0.8 0.8
0.6 0.6
0.4 0.4
0.2 0.2
) o Q
©
@
1 0.5

0. L . .
107 1 10 102 &03 107
T

1 -1
AR(track, jet?



	Contents
	Page 1


